Supplementary Material

RBFNN: one hidden layer, twenty-eight hidden neurons.
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Output layer:

Xq(q=31,32,33,34,35) = Z Wi Xj + Wi

—229.73 —346.34 546 —29.70 -65.15 -—835.00 249.71

—192.19 66.57 3.98 143 —-15.26 —258.34 —-23.95
Wy = 92.57 538.89 —32.76 —34.75 —68.66 598.55 —239.81

50.91 2716.07 4046 79.84 —421.46 182.16 —1158.64
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48998 -9.82 -1.11 23.08 62.81 2611.53 —2697.111 -751.38

38040 —-5.80 -—1.72 3.32 56.38 893.17 —1023.95 76.74
—230.69 44.03 14.80 2357 —18.33 -1818.30 1837.06 800.90
—103.36 —55.55 -20.15 104.81 -20.49 -602.06 633.69 3777.78

244,78 —29.03 -2.09 -28.27 31.05 387.04 —538.83 —1351.52
724.02 57.22 —31.54 0.58 7.08 1661.38  —1371.25
—86.57 —-12.02 14.53 —6.58 4.30 772.63 —764.05

—854.74 117.86 —112.32 43.74 -29.76 —1084.15 855.22
—407298 -—-231.35 201.03 -—67.81 39.30 —392.69 311.98

1349.20 —47494 36845 —94.73 34.13 34.13 —520.88
16890 —793.75 1095.95 —22.16 93.42 —70.09
—69.37 —568.46 705.39 65.33 32.80 —-52.47
—433.38 425,57 —639.61 344.15 142.75 —231.01
—2399.74 164.16 —240.64 2008.53 916.02 —1491.15
635.76  —382.74 485.69 —507.37 —231.32 372.18
—0.0789 ATBARS = 0.61X31 + 0.67
0.1692 AFFA=17.11X32 + 18.02
Wyo = | —4.2737 A SSP = 19.92X33 — 21.47
6.0797 A Ca?t — ATPase = 0.12X34 — 0.13

—1.8598 A SH = 2.20X35 — 2.47



